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Data

speed of light in free space
permeability of free space

permittivity of free space

elementary charge

the Planck constant

unified atomic mass constant
rest mass of electron

rest mass of proton

molar gas constant

the Avogadro constant

the Boltzmann constant
gravitational constant

acceleration of free fall

¢ =3.00x10°ms™

= Anx 107 HmM

&, = 8.85x 1072Fm™

(1/(36m)) x 10°Fm™

e:= 160 x107C
h=6.63x10*Js
u=166x10%kg

me = 9.11 x 10" kg

m, = 1.67 x 10" kg

R =8.31JK " mol™

Na = 6.02 x 10 mol™
k=1.38x102JK"

G =6.67 x 107" Nm?kg™

g =981ms™



Formulae

uniformly accelerated motion

work done on/by a gas

hydrostatic pressure

gravitational potential

temperature

pressure of an ideal gas

mean translational kinetic energy of an ideal gas molecule

displacement of particle in s.h.m.

velocity of particle in s.h.m.

electric current
resistors in series

resistors in parallel

electric potential

alternating current/voltage

magnetic flux density due to a long straight wire

magnetic flux density due to a flat circular coil

magnetic flux density due to a long solenoid

radioactive decay

decay constant
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What is the number of heartbeats of a person at rest in one hour, to the nearest order of magnitude?

A 10 B 102 c 10 D 10°

Which experimental technique reduces the systematic error of the quantity being investigated?

A measuring the diameter of a wire repeatedly and calculating the average

B measuring several internodal distances on a standing wave to find the mean internodal distance
C adjusting an analogue ammeter to remove its zero error before measuring a current
D

timing a large number of oscillations to find a period

A block is projected at a certain speed up a frictionless slope. Which of the following graphs correctly
shows the relationship between the kinetic energy of the block and the displacement of the block along
the slope after its point of projection?

A B

Kinetic Energy Kin‘?tic Energy
A

»
» »

displacement displacement

Kinetic Ener ineti
|A i aqy KII‘}(FUC Energy

»
> -

displacement displacemen't

Drops of water falls from the roof of a building 9.0 m high at regular intervals of time. The first drop
reaches the ground at the instant the fourth drop starts its fall. What is the distance between the second
and third drops from the roof?

A 1.0m B 3.0m C 40m D 50m



5 Two objects are being pulled along a smooth floor by a 70 N force as shown. Object A has a mass of
20 kg and object B has a mass of 6.0 kg. The masses do not slide against each other.

A
B
70 N
Which line of the table correctly states the magnitude and direction of friction on A by B?
magnitude direction

A 16 N to the left

B 16 N to the right

C 54 N to the left

D 54 N to the right
6 In which diagram is the moment of force about point P greatest?

A B
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7

Before two moving bodies collide, they have kinetic energy and momentum.

Which row correctly states whether the total kinetic energy and the total momentum are conserved or
not after the collision?

total kinetic energy total momentum
A always conserved always conserved
B always conserved may change
C may change always conserved
D may change may change

A mass of 0.30 kg slides from rest at height 2.0 m down a smooth curved surface which becomes
horizontal at zero height. Another mass with a spring attached has a total mass of 0.50 kg and it is at
rest on the level part of the surface. During collision, the maximum compression of the spring is 0.20 m.

0.50 kg
N T .

What is the spring constant?

A 184 N m" B 196 N m" C 253Nm’ D 294 Nm'

A workman on the roof of a hemispherical sports dome of radius 25.0 m lets go of a spanner very close
to the highest point A as shown.

path of

point of release
A spanner

dome
25.0m

48.2°

The surface of the roof is very smooth and the spanner starts to slide from rest down the dome.
The spanner loses contact with the surface at point B.
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11

12

13

What is the centripetal acceleration of the spanner at point B?

A 4.91 m s B 6.54 m s C 7.31ms=2 D 9.81 m s

Which of the following statements about geostationary orbits is false?
A A geostationary orbit must be directly above the equator.

B  All satellites in a geostationary orbit must have the same mass.
C The period of a geostationary orbit must be 24 hours.
D

There is only one possible radius for a geostationary orbit.

Which of the following is a property of a uniform gravitational field?
A It acts equally in all directions

B Its field strength is the same at all points within it.

C It produces zero force on a stationary test mass placed in it.
D

The gravitational potential has the same value at all points within it.

Three particles have speeds of 2u, 10u and 11u. Which one of the following statements is correct?
A The r.m.s. speed exceeds the mean speed by about 1u.

B The mean speed exceeds the r.m.s. by about 1u.

C Ther.m.s. speed exceeds the mean speed by more than 2u.

D The mean speed exceeds the r.m.s. speed by more than 2u.

A gas cylinder is fitted with a safety valve which releases a gas when the pressure inside the cylinder
reaches 2.0 x 108 Pa. Given that the maximum mass of this gas the cylinder can hold at 10°C is 15 kg,

what would be the maximum mass at 30°C?

A 5.0Kkg B 14 kg C 15kg D 16 kg
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14  The graph shows the variation with time t of temperature change A( for 1 kg of a substance, initially

15

16

solid at room temperature. The substance receives heat at a uniform rate of 2000 J min™.

/K
8
7 B
6 /

2 //
1 oz
d
0 » {/ min

What can be deduced from this graph?

A The specific heat capacity of the substance is greater when liquid than when solid.

B The specific latent heat of fusion of the substance is 6000 J kg™.
C The substance melts at a temperature of 3 K.

D After 10 min, the substance is all gaseous.

A student is investigating the specifications of a camera shutter. He used a camera to photograph a
simple pendulum bob that is moving in front of a horizontal scale. The extreme positions of the bob
were at 600 mm and 700 mm marks.

The photograph showed that the bob moved from the 640 mm mark to the 675 mm mark when the
shutter was opened. If the period of the pendulum was 2.0 s, what is the time that the shutter has
remained opened?

A 013s B 023s C 040s D 044s

Two particles P and Q are in a sinusoidal wave of amplitude A. The distance of particle P from its

1
equilibrium is A while the distance of particle Q from its equilibrium is 3 A.

What can be the phase angle between the two particles P and Q?



17

18

19

A 19° B 45° Cc 60° D 71°

The intensity of a wave depends on the amplitude. The intensity is also proportional to the square of
the frequency.

A wave has frequency 5.0 Hz, amplitude 2.4 cm and intensity /.
What is the intensity of a similar wave of frequency 15.0 Hz and amplitude 1.2 cm?

A it] B gI Cc gI D 36/
9 3 4

Light of wavelength A is incident normally on a diffraction grating of slit separation 4. What is the
angle between the second order maximum and third order maximum?

A 145° B 18.6° C 48.6° D 71.4°

Two charges are placed in free space. The variation of the electric potential V, with the distance r from
the left charge along the line joining the centres of the charges is shown below.

P Q R
° @

V/V 4

v

r/m

/

Which of the following statements is true?

A Any charge placed at point P will experience a resultant force towards the left.

B The electric field strength at point Q is larger than the electric field strength at P.

C Net positive work needs to be done by an external agent to move a negative charge from point
R to point P.
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21

10

D A positive charge at P has more electric potential energy as compared to an identical positive

charge placed at R.

Two parallel plates are connected to a high potential difference of 4.5 kV. The separation of the plates
is 1.5 mm. The maximum acceleration of an electron between the plates is

A 1.0x10°ms? B 1.2%x 102 m s (03 1.6x10®"ms=? D 53x10" ms=2

When four identical lamps P, Q, R and S are connected as shown in diagram 1, they have normal

brightness.

—— k-] _
P Q X X

__:__

==
!
R S R S

diagram 1 diagram 2

The four lamps and the battery are then connected as shown in diagram 2. Which statement is correct?

A The lamps P and Q in diagram 2 do not light up.
B The lamps P and Q are brighter while R and S are less bright than normal.
C All lamps have normal brightness.

D All lamps are brighter than normal.
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22 A battery with internal resistance r is connected to a resistor R as shown in the figure below. A constant
current passes through R. When a charge of 20.0 C passes through the circuit, the heat dissipated in
ris 10.0 J and the heat dissipated in R is 50.0 J.

:

R

What is the e.m.f. of the battery and the potential differences across r and R?

e.m.f. of the battery | potential difference across r | potential difference across R
A 6.00 V 1.00V 5.00 V
B 6.00 V 5.00 V 1.00V
Cc 3.00V 250V 0.50 vV
D 3.00V 0.50V 250V
23 In an electric motor, a rectangular coil WXYZ carrying current has 20 turns and is in a uniform

magnetic field of flux density 0.80 T.

Z N

S

The lengths of sides XY and ZW are 0.17 m and of sides WX and YZ are 0.11 m. The maximum torque
provided by the motor is 1.35 N m.
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What is the current in the rectangular coil?

A 45A B 9.0A C 45 A D 90 A
24 A part of a mass spectrometer is shown in the figure below. Negative ions are generated at the source
S with negligible speed, which is at a potential of —V with respect to the hollow metal container. Inside

the container, there are parallel plates separated by distance d and a uniform magnetic field B is
applied to the region between the parallel plates.

Region of
magnetic field, B
Parallel plates pd 9
with potential
difference V
Source S
-V L
Electric field

\ Hollow metal

container, 0 V

If the potential difference between the parallel plates is V, what is the charge to mass ratio of the ions
that can pass through the fields undeviated?

4 yAS 2B*d* B*d*

A 2B%? B B2 c Vv D 2V

25 The figure below shows a copper disc rotating at constant angular speed about its centre O in a

uniform magnetic field acting perpendicular to the page. Point R is at a distance r from the centre O.
The induced e.m.f. between O and Riis E.

Point S is at a distance g from O.

/ uniform magnetic field
perpendicular to page
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What is the induced e.m.f. between R and S?

A E/A B E/2 C 3E/4 D E
26 Fig. (a) shows two concentric circular conductors lying in the same plane. The current in the outer loop
is clockwise and changes with time as shown in Fig. (b).

current
00 &1e
Fig. (a)

Fig. (b)

inner loop

outer loop

current

time

The induced current in the inner loop is

A  constant in the clockwise direction.

B increasing linearly with time in the clockwise direction.
C decreasing linearly with time in the clockwise direction.
D

increasing linearly with time in the anticlockwise direction.
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27 Which of the following graphs best represents the variation with time ¢ of the current / through the
200 Q resistor in the circuit below?

200

MO
——
]
1.0k

™~
L1

A A B 4
I 5 I
t t
C A D A
I, Iy
t t

28 Two beams P and Q of light of the same wavelength is incident on the same metal surface causing
photoelectrons to be emitted.

The photoelectric current produced by P is four times that produced by Q.

amplitude of wave P "

Which of the following gives the ratio - /
amplitude of wave Q

A 025 B 0.50 cC 20 D 40
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29 The diagram shows some of the energy levels of helium and neon. The elements are the major
constituents in a laser that emits red light.

helium neon
E, -3.976eV E
E, —4.031eV 6 ~4.0266V
E; -5.990eV
E; -12.190eV
ground
= -21.568 eV

Which transition between the labelled levels gives rise to the emission of the laser light?

A E3 tOEZ B E6 t0E5 C E2 to E1 D E5 to E4

30 Thorium 90232Th decays through a series of transformations. The particles emitted in successive
transformations are
a B B ' a

The resulting nuclide may be represented by

A 82230Pb B 88226Ra C 86224Rn D 88224Ra
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